113 & B Bp 4, 4g %\“ PRI TOWA 5 84 4
o e A o FOP R
70-1 & #1 A1 A s
1.3 [113.11. 14 2 2 5% RA29F R410A 0. 83KG 6/21
+} E
HE R 1 " V|V
1.3 [107.6.28 9 34 4 ;% RA28N RA10A 0. 9KG 6/21
3% 1 - VoV 11/19
! 1.3 [111.1.4 2 32 a5 RA29F R410A 0. 83KG v |y |62
Ty g 11/16
) 1.5 [107.6.28 8 34 4 ;% RA36N RA10A 1. 05KG 6/21
' V
FHE 1 i v 11/16
"
iy . ﬂi3F 113.9.28 9 3.4 4 ;% RAGSF RA10A 1.5KG v |y |2
Dby (8 . 9.5 [107.6.28 8 .24 &7 RAT2N R410A 1.6KG v v |62
#P ) 5 11/19
YT 1.3 [110.6.8 2 7% 2 RWT2R R410A 1. 32KG
5 . ¥ v | 19/3
70-2 H=Edl% FA 9 a2
= 37 [105.4.29 p = % 3 RA6BWK R410A 1. 63KG
V
T0CY -) ¢ I 72z
, 3.5 |P = % 3 RAGOWK R410A 1. 5KG
O 1| - ¢ v |11/26
a =k 1 | 2.5 [104.06.18 P = % 3] RA6OWK R410A 1. 5KG v 11/22
Al 3.5 |113.10.5 2 & 5% RA63F R410A 1.5KG
T | |25 104.11.10 P * % 3 RAGSWK R410A 1. 63KG g | e
3 (108, 11.12 9 324 5% RAT2N R410A 1.6KG
w1 1 3.5 &R A 3
PEX R i
= 9.3 |P = % 3] RA45BT R22 1. 18KG
{ﬁ% x| 1 - “ 3 v o|11/27
PR 3 [106.05.10 P * % %] RAGSWK R410A 1. 63KG
#'%\ i | : “ 3 v o |11/98
%= 3.5 [105.07.11 2 3 ) RWT2R R410A 1. 32KG
V
108CY 11| 1 - 11/28
% 3 1109.04. 14 2 3 2 RWT2R R410A 1. 32KG
?i N . |1 - e v 12/2




P e ) A’\%,g’ = - —J;'E l%;j‘_*&a
ht | % A X R i s A A B
70-2 wFHE F: 2 A8 4
T 9 3.5 [106.05.23 p = 4~ #r;% RASB0UK1 R410A 2. 6KG 11/30
'g #1 =k i 109.1. 17 2 3 358 RAT3F R410A 1. 78KG
3 W
B 3 (108.5.16 p = % 3] RAGS8WK R410A 1. 63KG
LEE ] 2 1l 19/2
3 N 4 w
B 3 |108.05.16 2 &% A& RW72R R410A 1. 32KG
PR g I 11/29
PED i
E TR 2.3 [111.6.28 2 % RAS0F~R410A 1.5KG
Ex 9 [- S 12/2
PENE W
0-2 Hiph B A4 AN
T 9 3.505(105.9.19 p = » 35 RAS80UK1 R410A 2. 6KG 12/16
- A 458 111.1.17 2 7 33 RA100A R410A 2. T1KG
(1)
. 37 105.07.29 P = % %] RA68WK 3 ~ R410A 1.63KG
a1 H .
e 4 111.1.17 2 %% 2 RW72L R410A 1. 32KG 12/16
(2)
70_1 ﬁi»és 35,_ E’: :1' . 4
F ¥ 2.5 [105.8.30 RAGOWK R410A 1. 5KG
Ex28 0 : 12/6
5 4 ]
RT (RMG)
PHRL R
= | 3
PR3 “E
:}%;“éﬁ 1 3 1103.09.05 P = % 3] RAG8WK R410A 1. 63KG 12/5
(GC) v
PHRL R
ST 1




7 7z Al Ay\é{ﬁ. a A =X o = E %;I—
0-1 #fyeE F3 4 MM 6 4 Arkg 3
; 1 (105.07.14 p = 4~ %3¢ RAS22UK R410A 0. 77KG
* f% 1 _ 12/24
ELN e o i
- (% 9 4 1101.2.30 p = » #3% RAS80BJ R22 2. 9KG 19/5
%) Wi 1105.4.29 p = & ;% RAS80UK R410A 2. 3KG
Z ¥ (2 3 2.5 [109.2.20 RA6OWK R410A 1. 5KG 19/4
i*) i |p = % 3 RATIBQ R22 2. 1KG
P * % 7] RA32BD R22 1. 1KG
= LI 8 3.5 |109.11.16 p = %~ &5 RAS80UK1 R410A 2. 6KG
ﬁ,— ( 1 _ 12/11
) i
= 10 [ 54 4r k595 &, 04 * B4p5 2 Fe- 3B
V
(OPC) 2 WE| 8 AR - = o/ 21
FQ v itir 105. 08. 12 45314 RPNP101WL R410A 4. 2KG 19/94
KEE 104. 08. 05 4531 # RPNP101WL R410A 4. 2KG
107.9.19, 1 5Lk { #7
I~ 15+ 1 2.5 % 106. 07. 20 RA60WK R410A 1. 5KG 12/5
ES - ]
AP T | ScBEaLF S
AP R 1 cBEFNLFS
-
- 1 2.5 1104.07.29 p = 4~ %5 RAS63UK R410A 1.59KG 19/4
AP ’E!IEJ_E "*—F":
= HLkok s 1 30 2Hzp10, SEpAP4 5 LA K (K v 5/27
Pl wibgr MR- ) FRERBIL S S LEKEI R o & 12/11
k¥, Tk S 3BT BE- =0 110,813 kL AT 12/24
106.5.13 p = 7k-k 4 RCUN301W R410A 15. 6KG
= 3.5 [111.1.13 p = 4~ &5 RASS80UK1 R410A 2. 6KG
Bl TEF & : PR fe/11




